

My Commission Expires 03/28/2005

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License #	3842		API No. 15 - 053-21134-0000
-	LARSON OPERATING C A DIVISION OF LARSON		County: ELLSWORTH
	562 WEST HIGHWAY 4		APP N/2 SE Sec. 5 Twp. 16 S. R. 7 ☐ East ☑ West
-	OLMITZ, KS 67564-8561	1/00	2300 feet from SOUTH Line of Section
		KCC	1300 feet from EAST Line of Section
Operator Contact Person		DEC 0 2 2004	Footages Calculated from Nearest Outside Section Corner:
Phone:			(circle one) NE (SE) NW SW
Contractor: Name:		CONFIDENTIAL	* Lease Name: SCHULTZ Well #: 1-5
	30141		Field Name: WILDCAT
	LARRY NICHOLSON		Producing Formation:
Designate Type of Com			Elevation: Ground: 1530' Kelly Bushing: 1540'
New Well	Re-Entry	Workover	Total Depth: 2180' Plug Back Total Depth:
	swdslow		Amount of Surface Pipe Set and Cemented at 272 Feet
	ENHRSIGW	-	Multiple State Cementing Collar Used? ☐ Yes ☑ No
X Dry			If yes, show depth set Feet
If Workover/Re-entry:	- Old Well Info as follows:		If Alternate II completion, cement circulated from
Operator:			feet depth tow/sx cmt.
			ACT I WHM 11-29-06
	Original Tot		Drilling Fluid Management Plan
Deepening	Re-perf.	Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
	Plu	1	Chloride content ppm Fluid volume bbls
Commingled	Docket No		Dewatering method used
Dual Completion	n Docket No		Location of fluid disposal if hauled offsite ANSAS CORPORATION COMMISSION
Other (SWD or	Enhr.?) Docket No		Operator Name:
			Lease Name: License No.: 3 2004
8/10/2004 Spud Date or Recompletion Date	8/15/2004 Date Reached TD	8/15/2004 Completion Date or Recompletion Date	Quarter Sec. Twp. SONSERVATION FAST West County: Docket No.: WICHITA, KS
Kansas 67202, within Information on side to 107 for confidentiality	in 120 days of the spud wo of this form will be hel in excess of 12 months).	date, recompletion, workover d confidential for a period of 12 One copy of all wireline logs a	th the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING omit CP-111 form with all temporarily abandoned wells.
	e statutes, rules and regul d correct to the best of my		the oil and gas industry have been fully complied with and the statements
		P+1	KCC Office Use ONLY
Signature:	nomal of to	erlal	Letter of Confidentiality Attached
Title: SR. GEO	DLOGIST Date:	12/2/2004	If Denied, Yes □ Date:
Subscribed and sworn t	to before me this 2ND	day ofDECEMBER	, Wireline Log Received
20 <u>04</u> .	1	Ω_{α}	Geologist Report Received
Notary Public:	Haya 21	Alarid)	UIC Distribution
- Total	res: AURA B. ADAR NOTARY PUBLIC STATE OF COLORA	,	

Operator Name: _A	ARSON OPE				INC.	Lea	se Name:	SCH	IULTZ		Well #: _	1-5
Sec. 5 T	wp16_	S. R.	7		ast 🛛 We	st Coi	unty:	ELL	SWORTH			
INSTRUCTIONS: tool open and closed and flow rates if gas Attach final geologis	Show impor d, flowing and to surface te	tant tops a d shut-in p est, along	and base pressures	of formatio	on penetrate shut-in pres	ed. Detail all o	static level,	hydrost	atic pressur	es, bottom hole	e temperature, flu	ild recovery,
Drill Stem Tests Tak			Yes	⊠N	o	Log		Forma	tion (Top), [Depth and Datu		☐ Sample
Sample Sent to Geo	ological Surve	ey 🛛	Yes	□ N	0	Name HUTCHISO HERRING					Top 583 935	Datum 957 605
Cores Taken			Yes	⊠ N	0	FLORENC	E		S 49 485. A	18 0.	1141	399
Electric Log Run (Submit Copy)		⊠	Yes	□N	o	RED EAGLE GRAND HAVEN SEVERY					1526 1739 2112	14 -199 -572
List All E. Logs Run: DUAL INDUCTION LOG DUAL COMPENSATED POROSITY LOG TOPEKA TD CONFIDENTIAL 2142 2180						-602						
				SING RECO		☐ New tor, surface, in		sed	tion ata			
Purpose of string	Size Hole Drilled	Size C Set (in	asing	Weight Lbs./Ft.	Setting Depth		Type of Cement	, produc	# Sacks Used	Ту	pe and Percent A	additives
SURFACE	12-1/4"	8-5	/8"	28	272'	CLASS A			175	2% GEL & 39	% CC	
	:			-				···				
				AD	DITIONAL	CEMENTING	/SQUEEZE	RECO	RD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone		De Top	Bottom		Туре	Type of Cement		# S	acks Used	Ту	pe and Percent A	dditives
	PERF	ORATIO	N RECO	RD – Bridge	e Plugs Set	/Туре		Α	cid. Fracture	e, Shot, Ceme	nt, Squeeze Rec	ord
Shots per Foot Specify Footage of Each Interval Perforated					ed	(Amount and Kind of Material Used) Depth					Depth	
							RECEIVED KANSAS CORPORATION COMMISSION					
						DEC 0 3 2004						
										ERVATION DIVIS WICHITA, KS	SION	
TUBING RECORD	- Parkinal-Addispersed accounted to a section	Size		Set At	F	Packer At	Liner Rui			1	,	
Date of First, Resum	ned Production	on, SWD o	or Enhr.	Produc	ing Method		I			□ No		
Estimated Productio Per 24 Hours	n	Oil	Bbls.	Gas	s M	lcf Wa	Flowing ter E	Bbls.	Pumping Ga	Gas Gas-Oil Ratio	Lift Ot	ner <i>(Explain)</i> Gravity
Disposition of Gas METHOD OF COMPLETION Production Interval												
☐ Vented ☐ Sold ☐ Used on Lease ☐ Open Hole ☐ Perf. ☐ Dually Comp. ☐ Commingled If vented, submit ACO-18.)												
vontou, subilli			,		☐ Oth	ner <i>(Specify)</i>		*****				

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860 RECEIVED AUG 2 6 2004

* I N V O I C E *

Invoice Number: 094178

Invoice Date: 08/24/04

KCC

DEC 0 2 2004 CONFIDENTIAL RECEIVED
KANSAS CORPORATION COMMISSION

DEC 0 3 2004

CONSERVATION DIVISION WICHITA, KS

562 W. HiWay #4 Olmitz, KS

Larson Operating Co.

67564

Sold

To:

Cust I.D.... Larson

P.O. Number..: Schultz 1-5 P.O. Date. .: 08/24/04

Due Date.: 09/23/04 Terms.... Net 30

A CONTRACTOR OF A CONTRACTOR OF THE CONTRACTOR O	and the second s			Late of the State of the Section of
Item I.D./Desc. Oty. Used		Unit Pric	e N	э т үү
The state of the s				
Common 78.	00	SKS7	.8500	612.30 T
	 1989 - 10 500 58 50 58 50 58 11 11 10 10 10 10 10 10 10 10 10 10 10	Co. 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	.1000	213.20 T
	 1. *** ** *** *** *** *** *** *** *** **	A 3 TO THE THE STORY AND	.0000	55.00 T
Gel 5.	. 00	The said build have the first standard and the said the	.3500	182.25 T
Handling 135.		1	.7500	303.75 T
Mileage (45) 45.	(2) 12 (2) (2) (2) (2) (2) (3) (3) (3) (3) (4) (4) (4) (4) (4) (4) (4) (4) (4) (4	LITTE	.1500	
135 sks @\$.05 per sk per r		TOD 570	.0000	570.00 T
Rotary Plug			.0000	The state of the s
Mileage pmp trk 45	.00	MILE 4	.0000	180.00 T
All Prices Are Net, Payable	30 Days Followin	q Subtotal:	以 in 网络网络 医二角病的现在分词 医多氏管肠炎	2116.50
Date of Invoice. 1 1/2% Char	rged Thereafter.	Tax:	and the time of the control of the c	122.75
If Account CURRENT take Disc	count of \$ 211.65	Payments:	A Decree of the control of the contr	0.00
ONLY if paid within 30 days	from Invoice Dat	e Total:	환경도 기계를 다음	2239.25
				211.653
	and the second of the second		i in a single of the single of	The state of the s
en e				2027.60
DRLG COMP WO LOE	and the second s	And the second s	AND A SECOND STATE OF THE SECOND SECO	
N D I I I		The state of the same of the same		ALL CONTRACT
AFE#	-	4.7		

APPROVED BY

ALLIED CEMENTING CO., INC.

Larson Operating Co.

562 W. HiWay #4

Olmitz, KS

The state of the s

67564

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860

Sold

To:

RECEIVED AUG 2 6 2004

INVOICE

Invoice Number: 094177

Invoice Date: 08/24/04

KCC

DEC 0 2 2004

CONFIDENTIAL

RECEIVED KANSAS CORPORATION COMMISSION

DEC 0 3 2004

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Larson
P.O. Number.: Schultz 1-5
P.O. Date...: 08/24/04

Due Date:: 09/23/04

Terms...: Net 30

Item I.D./Desc. (2ty: Used	<u>Unit</u>	-Price	NCE IX
Common	175.00	SKS	7.8500	1373.75 T
Gel	3.00	SKS -	11.0000	33.00 I
Chloride	5.00	SKS	33.0000	165.00 T
Handling	183.00	SKS	1.3500	247.05×E
Mileage (45)	45.00	MILE	9.1500	411:75 E
183 sks @\$.05 pe	r sk per mi			
Surface	1.00	JOB	570.0000	570.00 E
Mileage pmp trk	45.00	MILE	4.0000	180.00 E
TWP	1.00	EACH	55.0000	55.00 I
Date of Invoice. 1 If Account CURRENT	Payable 30 Days Fo 1/2% Charged Therea take Discount of \$. 1 30 days from Invoi	fter. Tax. 3 <i>03.55</i> Paym	and the same of th	3035.55 94.35 0.00 3129.90
And the same of th	and the state of the			Z 303.55D
Hand TCOM	P WO LIVE			2826.35
Diaco	and the second s	a service of the serv	And the second s	2026.00
AFE#	- The - A special control of the control	a the state of the	a constitution and a series of the	4.52 granden in miles subject a seek to per Consult
ACCT # 155	/60			TO SHAPE TO SEE
**************************************	J.C. Jarson			The state of the s
APPROVED BY	With the State of		•	4.
		'		Nº
			*	•
			•	